E12/E26/E40%T &

E12/E26/E40 lampholder

E12/E26/E40%T i

E12/E26/E40 LAMPHOLDER

&' | 093

E12/E26/E40%T &

E12/E26/E40 lampholder

B EE124T B

Ceramic E12 lampholder

K312B K312C
BRIE26XT FE
Plastic E26 lampholder
K326D
PR E26XT FE
Ceramic E26 lampholder
CSC-01 CSC-01 K547 K547A
(K547B) (K547B26)
K301A K301B K547W K547Z
B ZE39KT R P8 & E4A0XT &
Ceramic E39 lampholder Ceramic E40 lampholder
K548 K548H a K548A Q K548A

(K548A06)

094 | @'



E12/E26/E40%T EE E12/E26/E40%T &
E12/E26/E40 lampholder

E12/E26/E40 lampholder

P m#i& Product Specification .
K312B/K312C &g+ (Accessories for K312B/K312C)
s EHM R fib 541 R TR KTRESEEY
\ Model No Body Material Contact Fixing screw Lamp Socket 3
. Product Specification
N K312B BAE Steatite 4 Brass M3 £12 Bef4+A4& Product Specificati
1 -~ %S MR RS r_ |
/ 4 Mode?l No Body Material Fixing screw 3
"Pmﬁ%%liﬁﬁﬁ';n" I: 9 I
Center contact fu RWZJ598 M Steel M10X1
compressing dista%ce i “ | g
15 RWZ)599 i Steel M8X1 .
I 17.5
ﬁl il [c@us 125V 75W

K312C fig4¢ (Accessories for K312C)

31

B4 #4& Product Specification

— #WS EME
- — Model No Body Material
“ RWQT956 4% Zinc alloy
> o
o] 6.8
= am#l#g Product Specification
as ES v 2054 b4 R TRIERET KTHESERY
Model No Body Material Contact Fixing screw Lamp Socket
= ~ K312C BAE Steatite i Brass M3 E12
— - \#
il EYRIEE
Center contact fully
S compressing distance
15
ﬁl s | c@os 125v75W =

M25 x 2
#23
I —

31

&' | 095 096 | I



E12/E26/E4A0XT 2 E12/E26/E4A0XT 2

E12/E26/E40 lampholder E12/E26/E40 lampholder

= amilig Product Specification
K326D/K326G i+ (Accessories for K326D/K326G)
s Sy )54 Y TR KTRESEEY
P Model No Body Material Contact Fixing screw Lamp Socket
A - Product Specification
' :_:___g’ K326D PET Brass+§ﬂt;i;‘rr1§§steel M3 E26 E{;ﬁ“ﬁ EWJ: et -
N 4 g :_-F__é Mode?lNo Body Material  Fixing screw Heat—rem;isting Q:F_\\
. >
-« RWSL217 PA66 M10X1 Max. 180 °C
RWSL218 PAG6 M8X1 Max. 180 °C
< T ey B |
m' 21g i 453 rce] ) [e49 RWSL219 PA66 IPS1/8"-27  Max.180°C 1;;/
40 -
&‘% 3 ] (@'&%ﬁq RWSLAG6 PBT M10X1 Max. 180 °C X
Min 18# plug-in Max #1.6 3
C®us S RO . RWSLAG7 PBT M8Xx1 Max. 180 °C
2
< B4 #4& Product Specification
HWS MR iiE '
") Model No Body Material Heat-resisting |=“ ’=.=‘ ﬁ &
RWSL216 PET Max. 210°C mlsa
o] ] RWSLA70 PBT Max. 180°C
E 4 #4& Product Specification
ModelN Body Material  Heatoresst
2 — el No y Materia eat-resisting @
-~ — MO g
=S #4& Product Specification - RwaL4a PET Max. 210°C \ 46.5 |
-
RWSLA72
s TEHE b F R REWST ATEERE = Sl
& Model No Body Material Contact Fixing screw Lamp Socket
ke
I
: -+ E5W
& ’_’J K326G PET Brass+Stainless steel M3 E26
i *REEK327)/E 2 Must go with cap of K327)
e
' ) 425
=228 (& 0
Min 184 plug-in Max #1.8
c®us 250v 660w
g
(=]
<

@R’ | 097 098 | &’



E12/E26/E40%T EE 12/E26/E40%T
2/E26/E40 lampholder

E12/E26/E40 lampholder

P &@M#& Product Specification

Bs E3% 92154 ik 4 R RIKEST KTEESE
Model No  Body Material Contact Fixing screw  Lamp Socket
K326F PET Brass-l-!‘;ﬁt;ﬁl:gg steel M3 E20

*ABEEK327)/5 % Must go with cap of K327)

i il 40

AR o

Min 184 plug-in Max.#1.8 |,
c@®us 250v 660w T
L

G
n—_nﬁ
?37.6

K326F/K326F01 Bf¥ (Accessories for K326F/K326F01)

B4 #M4& Product Specification
s IR RIIET fitia
ModelNo  BodyMaterial ~ Fixing screw Heat-resisting ] TR
‘ p RWSL217 PA66 M10X1 Max. 180 °C
RWSL218 PAG6 Max1 Max. 180 °C
RWSL219 PAB6 IPS 1/8" -27 Max. 180 °C = ]ﬁ
RWSLAG6 PBT M10X1 Max. 180 °C 23
RWSLAG7 PET M8X1 Max. 180 °C

Q' | 099




E12/E26/E40%T &

E12/E26/E40 lampholder

E12/E26/E40%T EE

E12/E26/E40 lampholder

7= R##% Product Specification B+ Product Specification = 18
®S EHEHR TIRIRET
s TR R TRERET KTRESE B Mod:: No Body Material Fixing screw
Model No Body Material Contact Fixing screw  Lamp Socket -
CSC-01 m - RWZJ590 i Steel M10X1 - )
’ - =18 & Porcelain A Brass M3 E26 (K547B)
LR PRl SRR 14.6
Center contact fully
compressing distance
- 14
-
[ﬁ FRar R @ 250v 660w 0 )
3 |
: -
4 38 e
CSC-01 B2+ (Accessories for CSC-01)
BofE#4& Product Specification 292
Dﬁ%{' Diﬁﬂﬁ ; iiiE
- Model No Body Materia Heat-resisting ™
g | Ol s
RWSL703 PBT Max. 160 °C
<
E=DE
9.4
BfE#4& Product Specification 135 ..
®s MR REIRET % \i
b Model No Body Material Fixing screw
) RWZJ512 65Mn M3 ® 234
< P
he)
13.5 95
B fE#4& Product Specification "
®s MR REIRET
Model No Body Material Fixing screw
) ' RWZJ513 65Mn M3 3 @34
< IT
o
102 | A

&' | 101



E12/E26/E40%T EE

E12/E26/E40 lampholder

7= @#4#& Product Specification

———
— &

=2 | [#esra
16-18awG || With Wire

[ c@us 600V 660W Pulse rating 4KV ‘

@' | 103

bR AR
Center contact fully
compressing distance

22

@37

s EEM R fit R4 R REBE KTEESEEY
Model No Body Material Contact Fixing screw  Lamp Socket
\' . ;% CSC-01 &% Porcelain 4F Brass M3 E26 (K547B26)
\._ Y U RS AR
o B Center contact fully
compressing distance
e 14
R
ﬁl waar | c@us 250V 660W
w
w0 0
2 E R
I
38
A& Product Specification
as ES )54 b4 R REBRET KTRESEEY
g Model No Body Material Contact Fixing screw  Lamp Socket
K547 &% Porcelain i Brass M3 E26

/:;"M Q Y b -

- @ #4& Product Specification

E12/E26/E40%T &

E12/E26/E40 lampholder

BS EEME fidF#1R LRIRIRE] KTEESERY
Model No Body Material Contact Fixing screw  Lamp Socket
K547A &8 % Porcelain §f Brass M3 E26
PRS2 EAEIEE

Center contact fully
compressing distance

c@us 250v 660w ]

[ 16-18AWG 6832

= 16
52g
]
T
ﬁ‘ win o e@us 250v 660w % o
X
2]
=
|
a7
M Product Specification
Bs MR 4R TRIERET XTRESEEY
Model No Body Material Contact Fixing screw Lamp Socket
o —
5 i K301A £&i&% Porcelain i Brass M3 E26
|
Vi \i’ ot
| alid PR ELEIEE

Center contact fully
compressing distance

17.5

=5

425

104 | ('




E12/E26/E40%T &

E12/E26/E40 lampholder

E12/E26/E40%T EE

E12/E26/E40 lampholder

BS EEME fid 1 R RRIRET XTRESER Mod:l. No Body Material Heat-resisting

225

16.8

Model No Body Material Contact Fixing screw  Lamp Socket

M
= @4 Product Specification _ B44#48 Product Specification %
ﬁ F S MR hE _ﬂ '

o

- 1 . . RWZ)591 Steel M10X1/M3 :|
— i K301B 48 Porcelain $F Brass M3 E26 ' b
) /
= -

chfll S5 2 4IRS
Center contact fully E4 M4 Product Specification M4

— compressing distance - -
s « - "
LEic — % s THMR L %—
¢ . | o Model No Body Material Heat-resisting ]
1 \ﬂ-r.J > 8/ ) )

RW2Z)572  Steel M10X1/M3

16-18BAWG % Gitt-32

c@ us 250V 660W

16.8
9l O
22.5

20.2

$39x3.5
@ (is
U
Bl

M4

Be44#4& Product Specification

425 8 MR i
Model No Body Material Heat-resisting @ ]
RWZJ570 ] Steel M10X1/M4
28.2

K301A/K301B/K547A Bi#f (Accessories for K301A/K301B/K547A)

B4 #4& Product Specification
BS EeH R RERET 0
Model No Body Material Fixing screw ©
RWZJ589 i Steel M10X1/M3 \i
K301B/K547A Eiff (Accessories for K301B/K547A)
B4 #4& Product Specification BofE#4& Product Specification Isa
-~ N < %S X SgeT =.
\J y‘ Model No Body Material Fixing screw Moﬁ-:l-No miﬁfﬁal =
0 S— -
RWZJ559 A Steel M10X1/M3 e RWQT953 e Al sl :_
2] ) 125 =g 193]
B4 #4& Product Specification M3 BfE#4& Product Specification (=
<& = BS EFHR RIRIRET ” : 8BS 37 )0
Model No Body Material Fixing screw Model No Body Material =
RWZJ588 iR Steel M10X1/M3 - = ? : RWQT954 {844 Aluminum alloy =
= G e |
20 u 98 %' 12.5
106 | G’

@' | 105



E12/E26/E40%T & E12/E26/E40%T &
E12/E26/E40 lampholder

E12/E26/E40 lampholder

i Product Specification
E4#4& Product Specification
Bs EEHE AR (RERE] XTRESEEY
HE FEH R e Model No Body Material Contact Fixing screw Lamp Socket
— Model No Body Material
' —— K547Z BAE Steatite i Brass M10x1 E26
RWQT955 842 Aluminum alloy 0
T 5 PR T2 ERER
o] 37.2 8 Ll ot Center?untact fully
40.5 et compressing distance
51 33
< T
erope] | o
@ = ==
Min 184 Maxs1.8 L)ﬁ] - = i&?g
< —-:E I
[E ey 8 == Ia
A 250V —— | —
—| =
N =
58
= miltE Product Specification
EEHE 4 ER RRERE KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
K547W BHE Steatite RE4 Stainless steel M10x1 E26

——

R
. W D AREERER
. Center contact fully

— T i v

compressing distance
28
é;‘ \lﬁ"'g@:‘
Min 184 ‘ Max.#1.8 Lﬁ ‘
c@us 250V 250w

ogo}
1l

===

i

{
!

(ERENEK)
.
)

i
)
o

:!
\f
|

45

s
i
i

0.!.4

)

/)

A

g,o,o.mom,nmm
.O’M (0
s
AR

f
A

0

52

&' | 107 108 &



E12/E26/E40XT 2

E12/E26/E40 lampholder

7= @M4& Product Specification

w"S 332054 fid#1R RIRIRET KTEESEE
Model No Body Material Contact Fixing screw  Lamp Socket

&i@Z& Porcelain i Brass M5 E40

W K548A
_"I ‘| M|
” N PMARLERER

Center contact fully
compressing distance

345

1.5-4.0mm?* I Max.#3.8 | J .
‘ 16A 500V 5KV ‘ = i

‘ @ ® 16A 750V T270 5K\
85

55
| ?70(Max) ‘

P @& Product Specification

w"e F{EH R it R+ R REEET KTRESSRY
) Model No Body Material Contact Fixing screw Lamp Socket
:\ . K548A 5% Porcelain 43 Brass M5 E40 (K548A06)
- 4 4 ol A ERIER

Center contact fully
compressing distance

=D -
==L .
1.5-4.0mm?* Max.#3.8 i)

16A 500V 5|<vJ bl
@ ® 16A 750V T270 5KV, »

P55
:
@ 62(Max)

&' | 109




ARKTE

Miscellaneous lampholder

Ju
R T i
MISCELLANEOUS LAMPHOLDER

&1

ARSEKT RE

Miscellaneous lampholder

K502 K502-Q1 B, Va <5027 K502N K503

[GED) K503L K505E K501
K501A+

K501+ RHAR K508 K509

JHCLUP REFLECTOR

G4Z5

G4 series

K507T K507V K507S

K505A

G875

G8 series

K501
(G8)

K506
(G8)

R7s/Rx7s%5%l

R7s/Rx7s series

K515

(ENEC)
K504G K504

S-05
(G

K515D K515F K51503A K51503B K51503C

1121 &



ARENTRE

Miscellaneous lampholder

= @#4& Product Specification

B @ as FHEME b4 R REBRE KTRESEEY
- - Model No Body Material Contact Fixing screw Lamp Socket
’2" 7 K502 BRE Steatite 4 Brass M3 GX5.3
9.8
[ 49 ]
S
[ﬁ i [c@us 250V 100W o
5-0; 1. 56
[ Ry 5A 25V T250 ]
2| ]
]
= am#lig Product Specification
B s FEME bR R | kETE KTEESEEY
L.a\ A\ Model No Body Material Contact Fixing Screw Tube: Lamp Socket
T o)
- e K502-Q1 BEE Steatite §f Brass M10x1 M8x1 IPS1/8"-27 GX5.3/GY6.35

&R
With Wire

ég 250V 100w
0.5-0.75mm? [ C® 0l

@R 5A25vT250

20.8

I

TT

R

O.S-CI.?Smn’I"

With Wire C@“*‘ 250V 100w

I & SAZSVTZSD‘

&' | 113

= @#4& Product Specification

me THHE R FH R RERET ATRESE
Model No Body Material Contact Fixing screw Lamp Socket
K502A BRE Steatite 4 Brass M3 GU4/GU5.3
*K502+3&K Clip 10.5

217

6.2

i

<" T
sooorcs] ) [.16]

==
0.5-0.75mm? plug-in

[
-—
Max.#1.8

' us 250V wuwH 5A 25V T250 ‘

7@ #4& Product Specification

ARENTRE

Miscellaneous lampholder

Bs E{EH R b1 R KTREEE
Model No Body Material Contact Lamp Socket
K502N BAE Steatite AREH Stainless steel GX5.3/GY6.35

[ ]
817

i ]
10.3
= @milig Product Specification
Y s EEME it R4 R RERE] KTRESE B
‘O \ Model No Body Material Contact Fixing screw Lamp Socket

K503 BRE Steatite

$fl Brass M3

GX5.3/GV6.35

[[ﬁ‘ BB | @us 250v 100w
I~
[ 5A 25V T250 ] N
= amili& Product Specification
- T BE EEME i 41 k230 TR
- \ Model No Body Material Contact Fixing screw Lamp Socket
. K503D BEE Steatite $ Brass M3 G5.3/GX5.3
o
4.3g
[Oés_o.?sml el 5A 25V T250 \j

@17

9.1

114 &




ARENTRE

Miscellaneous lampholder

RS
With Wire

0.5-1.0mm? ﬁm us 50V 500W ]

[ ¢ 10A 50V T300

Fr@#M4& Product Specification

Bns EEMER ik ¥ R TARIRE] XTEEZE

Model No Body Material Contact Fixing screw  Lamp Socket

K503H BAE Steatite $84% Nickel Alloy M3 GX5.3/GY6.35

TT

HERETR
With Wire

0.5-1.0mm? | [CN us 50V 500w

R 10A 50V T300

= @#4& Product Specification

s EEH R KE#E bR R BRI KTRESEEY
Model No Body Material Clip Contact Fixing screw Lamp Socket
K503L B&EZ Steatite AHBN mas M3 GU5.3

Stainless steel Nicke;i‘Alloy

28

/
~[[~234
8.4 9.8
228

,
oA

o]l
=

1

™~

e e

[6.69]

TR R

c@us 25v 100w

[ 0.5-1.0mm?*

With Wire

[ @& sa 25VT250|

&' 115

= @#M4& Product Specification

Mo%egl- No Bodiyﬁt% rial %oﬁngrcif Fiﬁr%mfgew Lagsﬁfﬁﬁ(et
K505E BAE Steatite i Brass M3 G4/GX5.3/GY6.35
B | 8.5
@\ 4.6
93.4 m

G ED)
5.3
13.5
20

#3.6

.\ f
3 %y | e

R

With Wire c@ us 12V 50w

0.5-1.0mm?

[ 5A 25V T250 ]

ARENTRE

Miscellaneous lampholder

7= @#M4& Product Specification

s EiE#HE b4 B RRBE KTEESEEY
Model No Body Material Contact Fixing screw  Lamp Socket
K501 BAE Steatite 4 Brass M3 G5.3/GX5.3

s
2xp45 ( L i KO P
Sy 1 |
o % ==
1 ° y T
20
28

Fr@iM4& Product Specification

%ﬂ wEETR
Gt [W[thWire [:mus 250V 100w

5A 25V T250 ‘

Bs MR XRME  BREYER RERE] KTEESEEY
Model No Body Material Clip Contact  Fixing screw Lamp Socket
K501+® F CLIP BEE Steatite, . :fe?;ﬂ;teel #fl Brass M3 GU4/GU5.3
0.5-1.0mm? Hx:ﬁ‘fff @ 12vs0w } [ﬁ: -
o
5A 25V T250 ‘ — r /m
9 18.5
22
™ @miltE Product Specification
= Bs EEHE R+ E KTRESEE
;‘ Lo A Model No Body Material Contact Lamp Socket
o W
K501A BEE Steatite $A Brass GUS5.3/GX5.3

p2

I

I

53
13
19

116 | &




IRRKTRE AREKTRE

Miscellaneous lampholder Miscellaneous lampholder
=@ #LA& Product Specification @ #M4& Product Specification
' Bs v &R KTRESEEY e - Bs MR bR R REBRE] XTRESEEY
9 wy Model No Body Material Contact Lamp Socket . - ’-’/ - Model No Body Material Contact Fixing screw Lamp Socket
K501A+R }4RREFLECTOR BEE Steatite % Brass G5.3/GX5.3 R K505A BEE Steatite 4 Brass M3 G4
— ?52 —
45
12?9 QEas I
Lés_,_omm, ‘ a2 | SN us 250v wDW] 21 ﬁ et & (@us 250V 100w ‘ O O (O]
L =U.. j v]:g E 8
[ 5A 25V T250 ] Lﬁ — 5A 25V T250 ‘ = o]
24
\CF ||
16 8.9
| =i AE Product Specification ™ miltE Product Specification
. [
@ ] MR fik 1 IR RERYT KTEERR . BE EEME fik ¥ IR KTEERR
" Model No Body Material Contact Fixing screw  Lamp Socket _ 4 et = Model No Body Material Contact Lamp Socket
K508 BGE Steatite #f Brass M3 G4/GX5.3/GY6.35 : K507K BAE Steatite A5 Stainless steel G4
wiw i
10.4g 28 [ 1.8] 14
20.5 9.6 - 2
M WL
[@ ‘ ] [ e G5007000 ‘ - ~ ﬁ [With WimJ e us 244 50w ),
05 10mms | | With wire || S\E/us O 55 O ] @
g 5A 25V T250 =
[ (€O 5A 25V T250 J = <£__C|') = @6) I 4
245 O EA&T.¢7.9-8.0
LN U LJ / u Fits ©7.9-8.0 hole
7@l Product Specification =@ ##& Product Specification
B MR R RIS KT ’ =
: : g g Model No Body Material Contact Fixing screw  Lamp Socket o ' Mo%j No Bu%ﬁgﬁ al %f‘ngﬁ L a*mTES%%%(et
K509 RAE Steatite # Brass M3 G5.3/6GX5.3 K507T #HIPPS Plastic PPS REBW Stainless steel G4
R i e =
2.3
% 1 o] ,,.sw@ql é 'j WL
0.5-1.0mm? Ug-i“ Max.81.6 [ﬁ ] [D.S-U.?Smm‘ With Wire [Em us 24V 100w ‘ — .
@
c@us 12v s0W | & sa2avT210 ‘ s

B&FL97.5-7.8
Fits ®7.5-7.8 hole

&' | 117 1181 &



ARRKTRE

Miscellaneous lampholder

ARENTRE

Miscellaneous lampholder

= miltE Product Specification = am#lig Product Specification

Bs ES. Y2054 fib 41 R KTHEESR & s 5.5 fib 41 R RS KTEERR
i ' Model No Body Material Contact Lamp Socket ‘B“ %S Model No Body Material Contact Fixing screw Lamp Socket
" K507V FBELPPS Plastic PPS A& Stainless steel G4 K502(G8) BAE Steatite i Brass M3 G8

I id i | 28
439
2 .
o

@;' BEETR =
0.5-0.75mm? [Wi‘h Wim] I:m ikl i | rjr:: ﬁ ﬁ:ﬁ‘ﬁwﬁ;zn [c@us 250V 100w :
Fo pd —
[ 4A 25V T210 - g 5A 25V T250 ] ]
o o o C
AT #7.8-8.0
Fits ©7.8-8.0 hole
Frm#i& Product Specification FE R #4& Product Specification
Bs FEME b &R KTRESE B N Bs MR it R4 IR TRBE KTRESE B
’ Model No Body Material Contact Lamp Socket ‘a \ ] Model No Body Material Contact Fixing screw Lamp Socket
K507S $BHIPPS Plastic PPS REW Stainless steel G4 - K503(G8) BEE Steatite £l Brass M3 G8
o 16 o
1.1g . 6.2a
= ‘ 0 ey
0.5-0.75mm? %UEH“ l:m w; 23V100W | b 0.5-1.0mm? xiﬁ:] C@“ 250V 100w
w. 51
@ 4a25vT210 ] s
EEILo75-78
Fits #7.5-7.8 hole
- e s
=@ #4E Product Specification = & #Mi& Product Specification
) s ES > )54 AR RERBET KTRESEEY
. ot s E{EH R B R KTEESEEY
1 5‘ \ Model No Body Material Contact Fixing screw  Lamp Socket ‘l % Model No Body Material Contact Lamp Socket
~y ‘ . 2 » :
K501(G8) BRE Steatite $ Brass M3 G8 o K506(G8) BEE Steatite 5 Brass G8
— — 125
9.39 28 - 4g 8
f 20 | -8
BREER "
Es_wmmz I With Wire [ c®.s 250v 100w ] H — H s o [fﬁ il [ c@us 250v 100w = | £ O [ b
‘ 4A 25V T250 ‘ E{ S o o 3
o - \O l P ) N r —I
8 R | 15.3 | | 10 |
JEE e e : =1 I 1
&' 19

120 | '



ARENTRE

Miscellaneous lampholder

_ 3
€

A
N

corg

[D.?S-'I.Smm‘ [C®”5 8A 250V
(@@ @& ssovrso]

R
With Wire

= @#4& Product Specification

me EHME fRE R RERE B
Model No Body Material Contact Fixing screw Lamp Socket
K504A B7%/H Steatite/steel $f Brass M4 R7s

@ K504+3% %52 Bracket @ B118mm(114.2mm)¥TE Match 118mm(114.2mm) lamp

155 |
70 ‘

i ; ~
! - g[ o
IE; T A1 I

218

«—

A

corg

7 @#4#& Product Specification

e THME ME R RERE EXR
Model No Body Material Contact Fixing screw Lamp Socket
K504B B7%/9 steatite/steel % Brass M3 R7s

@ K504+3% %52 Bracket @ B78mm(74.9mm)¥TE& Match78mm(74.9mm) lamp

<

THEREE & @
075-1.5mms) | With Wire || \Hus 8A 250V
@@ 8A 250V T250 l

= R #48 Product Specification

AT R
Miscellaneous lampholder

Bs EiEH R R XTRESEBY
Model No Body Material Contact Lamp Socket
K504 BRE Steatite 4 Brass R7S

M14x1

ALY

ferg
R R
[0_1?5_1_%,“1 With Wire °®U5 8A 250V

[ @@ :’:-AZSDVTZSU]

= @#M4& Product Specification

me TUHE MEH R RERET ATREE
Model No Body Material Contact Fixing screw  Lamp Socket
K515 (ENEC) 3% Porcelain A Brass M4 R7s
CS-05(UL) 3B & Porcelain 4 Brass M4 R7s
40
®35

15.5
P
25

- | 114 : ,u‘“j
] @ s | z |
T ©
[ @@ 8A250\-’T25l]| ::ﬂmi) Q A @]]H]:D J_E.;ﬂ[]:% E %]:1@:: 3
4.5 \_@11.5 G
7= @ #48 Product Specification
Bs ESr.9% 053 fid 4 JR KTEERE
| B Model No Body Material Contact Lamp Socket
« <
R7s (K504G) BEE Steatite {f Brass R7s
— 21.8

HRETR
0.75-1.5mm?) | With Wire

c@ us 250V 1ODDW]

&' 1121

21.8
10.5 |———|
|..-—.-

L
125 156

N—r"
L
@15.6
21.8

e

55g

R
0.75-1.5mmz| | With Wire

7= @#4#& Product Specification

e eSS ) fib - R REGGT AT B 2R
Model No Body Material Contact Fixing screw  Lamp Socket
K515D #48%£ Porcelain 4 Brass M4 R7s
@ K515/CS-05+3% 52 Bracket @ B278mm(74.9mm)4T# Match78mm(74.9mm) lamp
N 8.5 M4
y
%: E: CD/Q/EDE:Q
Q H
3 34
- 2 e ' 103.5

1221 @'




AREKTRE

Miscellaneous lampholder

= @#M4& Product Specification

AREKTRE

Miscellaneous lampholder

= @#4& Product Specification

6A 250V 5KV T250 ‘
@@ 6A 1000V T250 J

&' | 123

Be THHE fREH R RERET ATREE
_ Model No Body Material Contact Fixing screw  Lamp Socket
5 K515F #4832 Porcelain 4 Brass M3/M4 R7s
\..-'." @ K515/C5-05+3 252 Bracket @ B118mm(114.2mm)4TE Match 118mm(114.2mm)lamp
' v
42.5 P
B 2 i i
53.7g f\ %
=
0.75-1.5mmz| | With Wire 10 4-M4
,‘E}: o 4| 9 [peo c:ﬂ
b’ 25.8
71.6
140.5
I 1
Mg Product Specification
] EL 18 i 41 R RERT ATREEY
Model No Body Material Contact Fixing screw Lamp Socket
[ K51503A BRE Steatite &R Brass & Silver M3/M4 Rx7s/R7s
ﬁ |s
L)
= — ——
20.4g _
. @O0
ol ~ |3 =
075-1.5mm:] | With Wire N 16.5
227

e EHHME AR RBRT XT B 2 B
- Model No Body Material Contact Fixing screw Lamp Socket
é K51503B BHE Steatite {H&4R Brass & Silver M3/M4 Rx7s/R7s
_ @ K51503A+3 %8 Bracket @ E118mm(114.2mm)XT&(70W) Match 118(114.2mm) lamp(70W)
l 95
65 2-4.2 11.5
o 10 \
K51503B(RWZJ023B) ”, & oo ol
—= \(sesrn B X RNRRR T IANEEEP ~——f— ‘
= With Wire BERITHE W%L—-‘ 2_9
Note: The speoification of the 3.3 - -
6A 250V 5KV T250 ‘ bracket can be customerized
@@ 6A 1000V TZED] ] ] [ 0
g
)y | 0 | (
gggJ 235
= milig Product Specification
e EHHME AR RERE NERE
Model No Body Material Contact Fixing screw Lamp Socket
{ K51503C BAE Steatite $H&4R Brass & Silver M3/M4 Rx7s/R7s
@ K51503A+3782 Bracket @ E135.4mm(132mm)¥TE(150W) Match 136(132mm) lamp(150wW)
A . 70 _
ER— u)_
= O Te—==_=10 %9
58.4g
K51503B(RWZJ023B) 2-11_ | | ™ P4.2
WX RNEER T RRE P ~
=
0.75-1.5mm?] | With Wire 3 163
Note: The speoification of the |
6A 250V 5KV T250 ] bracket can be customerized %
] | I
& (S sa1000v T250| 0
Ty o™
) - ¢ N
1
23.5
124| G




157 BREAXT B

Special Lighting lampholder

L

T 1 B A XT R

SPECIAL LIGHTING LAMPHOLDER

&' | 125

K576H

K527A

457 AR BAXT B2

Special Lighting lampholder

126 | G



457 AR BAXT B

Special Lighting lampholder

Fr@#M4& Product Specification

TP AR BAXT B

Special Lighting lampholder

7= @#4#& Product Specification

e EL ) AR RERT AT B2 Y
I Model No Body Material Contacts Fixing screw Lamp Socket
}h , K577A BAE Steatite 1 Brass M4 PGZ18
o ;” *BEMATFClass I1 sTR Directly used in class II luminaire.
L
476
10
T B |
E3
== I
0.75-1.5mm?) | With Wire
[l:mus 600V 1000W Pulse rating 5KV ‘ 1
[ 5A 250V 5KV T270 ‘ | 19
Fixing height
®
= am#li& Product Specification
e £ L HHR RERYT ATEEXE
- Model No Body Material Contacts Fixing screw Lamp Socket
o
P\ K577B BAE Steatite %A Brass M4 PGZ18
I ,Mﬂ.- "I
— i L 4 *H¥EMATClass [1 TR Directly used in class II luminaire.
e _w# e :
Fixing height
i (FUTRED
729 20.3
== KN
0.75-1.0mmz] | With Wire KoY
: )
[;mus 600V 1000W Pulse rating 5KV ] "g ( (3 &
X @ c E 5A 250V T250 5KV | %ﬁvzj
47.3 30

&' | 127

s E R R # &R TR KTRESEEY
Model No Body Material Contacts Fixing screw  Lamp Socket
auil— K577D BEE Steatite A Brass M4 PGZX18
|t P .
oy ll" |i' |.|I . *EiEMTFClass I {TR Directly used in class II luminaire.
AN
Fixing height
o CREITRED
20.3
=
With Wire
[nmus 600V 1000W Pulse rating 5KV ‘ E (
‘ X ® c € 5A 250V T250 SKV‘
—
47.3
= amilig Product Specification
as EEME A& RERE KTRESE B
‘& %ﬁ{ Model No Body Material Contacts Fixing screw Lamp Socket
&5 Ni‘ | K525B BEE Steatite $) Brass M3 GY9.5
2o B
Fixing height
= 95, )
209 N 137
%ﬂ RS 1 U ‘ L
0.75-1.5mm’ 0 W
8 o @) T
10A 250V 5KV T250 | KR O 0 ~
\ L
. 33
s 32 -
128 | A




45 T FRBAXT B2 TP AR BAXT B

Special Lighting lampholder Special Lighting lampholder

P& #M#E Product Specification @& Product Specification

Bs EBH B fid ¥ IR XTEESSEY nes 5 i ¥ IR RiRRE KTEESE

Model No Body Material Contacts Lamp Socket Model No Body Material Contacts Fixing screw Lamp Socket
\ wmgﬁﬂ ~— K527A BAHE Steatite ) Brass Gx16d K576H PPS ) Brass M4 K12x30s
. ‘% b,
. 63.5 _

22.3 Flfﬁﬁm %eg)ht 27.5
451 13 11
v TAHI
=< | T F4 wL g — I _€ ‘ ‘f‘\ VJ\

71g o E o =

=== A1 ~lF =

BRE R o w0 e G A 1

ﬁi T s [ 10A 250V 5KV 8 o @ - ﬁ [whh wie || 4A 500V 5kv T180 Al o A

K576H
a“‘us 600V 1500W Pulse rating 5KV ) o] C@us 600V 1500W Pulse rating SKV] E =i
""" ) k(( & 22
R~

33 28

Patented

7= @##& Product Specification

as EEME b+ R RERE] KTEESERY
. Model No Body Material Contacts Fixing screw Lamp Socket
‘ ‘ K576G PPS # Brass M4 K12x30s
67
- 45
- —
73g i CD @ ‘
prespree=y THHHHHHE
ﬁ wWith wire || 8A 500V 5KV T180 Vam— : ;
sl | O] 1
c@us 600V 1500W Pulse rating 5KV J — . ol
B 8A 500V 5KV T180 ! o o w

&~

Patented

&R | 129 130 | &



SICKTXT K ICKTXT B

Fluorescent Lampholder Fluorescent Lampholder

K588A K588B

K566A

SKIYCKT KT B2

FLUORESCENT LAMPHOLDER

&R | 131 1321 &



K FCKTXT B

Fluorescent Lampholder

7= @#M4& Product Specification

8 —
0,5-1.0mm’ plug-in Man.#1.8

s 600V GGOW]

@@ 2A 250V T140 ]

K FCXTXT BE

Fluorescent Lampholder

7 @#4#& Product Specification

Bs 54 R ik R4 R REEST KTREER
Model No Body Material Contacts Fixing screw  Lamp Socket

K566A PA66 R/ W M3 GX53

Brass/Stainless steel

* AHRPER & H{RIPE without protection block & With protection block
*HiEMAFClass I1 {TH Directly used in class I1 luminaire.

TR~

Patented

Bs Y% 5 bR R RRBE KTRESEEY
Model No Body Material Contacts Fixing screw  Lamp Socket
i {3 K588A PBT RN Stainless steel M3 GU24
L 10 ‘.r
<
Q [
[ 18AWG %ﬂg-i" %
[ c@us 600V 660W |
= amilig Product Specification
Bs Y% 5 bR R RRBE KTRESEEY
Model No Body Material Contacts Fixing screw  Lamp Socket
K588B PBT AEW Stainless steel M3 GU24

°y
\ T

=ZNEES
18AWG plug-in Max.#1.8

c®us 600V 660W

@' | 133

Rl

GexoriN

=1

< Ty G

so0nes] ) (o
9] [
o]

0.5-1.0mm’ plug-in Max.#1.8

H mus 600V 660

(D& »wvmw]

7 @#4#& Product Specification

BS EEME fib 41 R BRI KTREER
Model No Body Material Contacts Fixing screw Lamp Socket
KSGGA'FE&E PAGS Brass!@tgﬁﬁg steel M3 GX53
WIRE COVER

* AR & H{RIPER Without protection block & With protection block
*EEATFClass [1 TR Directly used in class I luminaire.

134 | '




B 25 % R KT BE A R KT

Ceramic Adaptor Ceramic Adaptor

K513l K513

(E27-GU10)

K513
(E14-GU10)

3 K513B K513B01 K513H

PR 35 1R XT

CERAMIC ADAPTOR

&' | 135 136 | &




B 5 AR R KT

Ceramic Adaptor

7= @#M4& Product Specification

Bs EE#HE 4 & KTRESE B
) Model No Body Material Contact Lamp Socket
e ‘\‘\\" K513A BEHE Steatite 7 Brass E27-E14
f%ﬁ
8 o w 8
2A 250V T210 | ¥
45.3
= amilig Product Specification
= Bs EE#HE 4 & KTRESE B
R Model No Body Material Contact Lamp Socket
\
K513l BRE Steatite A Brass E27-G9
o S .
] 1 &
:
116
45.5

&' 137

7= @#4& Product Specification

B 2 B R KT

Ceramic Adaptor

s EEME it R4 R KTRESEEY
$ Model No Body Material Contact Lamp Socket
{ K513) BEE Steatite # Brass E14-GO
< IT
& g |
S o i E@
2A 250V T210
11.6
49
= am#l#g Product Specification
as 3. %5 fit R4 R KTEESERY
Model No Body Material Contact Lamp Socket
- w K513 BEE Steatite 6] Brass E27-GU10
R U
»
8 &
B w
CE€ 2n250v sz‘
25.5
46
138 | I




B & 4 $R KT B 5 4 $R KT
Ceramic Adaptor

Ceramic Adaptor

7= @#4#& Product Specification

7= @#M4& Product Specification

Bs MR bR R KTRESEEY as EEHE bR R KTEESERY
Model No Body Material Contact Lamp Socket ‘ Model No Body Material Contact Lamp Socket
ey
‘ . K513 BEE Steatite #f Brass E14-GU10 \ wl o’ — K513B01 BAE Steatite #f Brass E39-PGZ18
‘ , ‘ %’ ‘_FJ,-t'i .
L g
___ 91 o 2-¢9 2-¢5.2
< > 9T - o e
s M) E = 146g I
=2}
™
c € 2A 250V 7210 | o4 07 600V 1500w ) .
Y
325
48 46

7= @#4#& Product Specification

7= @#M4& Product Specification

ns EEME fib 54 R KTEEE s EEME fib B4 R KTEESERY
‘ Model No Body Material Contact Lamp Socket " Model No Body Material Contact Lamp Socket
- - ‘ e K513B BEE Steatite # Brass E40-PGZ18 ‘ m‘ -’ K513H —— — ca0.pez1
e 3 J'J_A.Am.,- \“-_— 7

-
5H)

g 91

5A 250V T270 ) |
(=]
=t
w

46

79 _

3A 250V T270
]

&' | 139 1401 G



